Druhý stupeň přídavných jmena příslovcí:

1. My son Tom is fifteen. He is three years older than my daughter Jane.                                                   
2. He is also much taller than her.                                                                                                                      
3. Jane is a bit slimmer than Tom.                                                                                                                        
4. She has a longer hair than him.                                                                                                                        
5. They both have brown hair, but Jane’s hair is darker than Tom’s.                                                             
6. Jane is doing better at school than her brother because she studies harder than him.             
7. She is also more patient than Tom.                                                                                                                 
8. Jane is a lot sportier than her brother. She likes athletics, tennis and cycling.                                        
9. Tom is more interested in computer games.                                                                                                 
10. He is good at mathematics and physics. Jane isn’t as good at science as Tom. She is much worse.   
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